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Example Candidate Responses — Paper 4

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Accounting, and to show how different levels of candidates’ performance (high, middle or low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates for each question.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

9706 June 2023 Question Paper 32

9706 June 2023 Mark Scheme 32
9706 June 2023 Insert 32

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 4

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner
comments.

Example Candidate Response — high Examiner comments

1 Read Source A in the insert.

(a) Prepare a statement fo show the profit or loss for the year ended 31 December 2022 for the
café.

el

........... @y
ey | =f
_‘lo_\y 2aAN=E... rrenaezseresanens L300
ol Sates.). Tnbeakely S S Tan L. SR00. L
hO%2
Pxxr-dno«é(‘ 280 o
SRy "“";‘E“x" :‘; SaAS °‘°‘> c All items in the statement,
C@stoﬁ_m—»\aj ) - CX\2.60) G both labels and figures, are fully
Gress.....esofsk lesnes, correct.
' ' " Mark for (a) = 8 out of 8

) W— 4 )

Examiner comments are
alongside the answers. These
explain where and why marks
were awarded. This helps you
to interpret the standard of
Cambridge exams so you can
help your learners to refine their
\exam technique. )

Answers are by real candidates in exam conditions.
These show you the types of answers for each level.
Discuss and analyse the answers with learners in the
classroom to improve their skills. )

How the candidate could improve their answer

(d) One further mark would have been awarded for mentioning that a bank loan would require more formalities.

This section explains how the candidate could have
improved each answer. This helps you to interpret
the standards of Cambridge exams and helps your
learners to refine their exam technique.

Common mistakes and guidance

* (a) Candidates must be able to prepare an account for a trading activity of a club. A common mistake was the
incorrect inclusion of a capital item.

¢ (b) Terminology for an income and expenditure account must be learnt with the bottom line being ‘surplus / deficit
for the year’, along with ensuring that capital expenditure is not wrongly included.

¢ (c) Acommon mistake was the inclusion of life member
addressing the question requirement to show the move

This section lists common mistakes as well as
helpful guidance from the examiner. This will help
your learners to avoid these mistakes. You can
use this alongside the relevant Examiner Report to
guide your learners.




Example Candidate Responses — Paper 4

Question 1

Example Candidate Response — high

Examiner comments

1 Read Source A in the insert.

(a) Prepare a statement to show the profit or loss for the year ended 31 December 2022 for the

café. .
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“ All items in the statement, both
labels and figures, are fully correct.
Mark for (a) = 8 out of 8
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Example Candidate Response — high, continued

Example Candidate Responses — Paper 4

Examiner comments

(b} Prepare the-club’s income and expenditure account for the year ended 31 December, 2022.

TAW&O«JE(neamc&q&s;temmodﬂ\:&fﬁ&ﬁr%w<kbat&m 2002
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' (é) ‘Prepare a statement-showing the movement.in the-accumutated fund for the year 2022.
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o The opening accumulated fund
is calculated correctly, the surplus
for the year is added and the
closing accumulated fund is correct.
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Mark for (c) = 3 out of 3
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Example Candidate Response — high, continued Examiner comments

The management committee ‘woﬁld.:like to buy the club’s own-premises but additional finance is
required to carry out this plan. They are considering two options: I
Andadlin

Option 1: Apply for a long-term loan from a bank.
Option 2: Obtain a personal loan from a wealthy member.
~— ———

(d) Advise the management committee which option they should choose. Justify your answer.
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24 out of 25

How the candidate could improve their answer

(d) One further mark would have been awarded for mentioning that a bank loan would require more formalities.
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Example Candidate Response — middle Examiner comments

1

Read Source A in the insert.

(a) Prepare a statement to show the profit or loss for the year ended 31 December 2022 for the
café.

Workings: aceo
Gl €<,000 ¥ MO0
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a The wages are calculated
incorrectly and the purchase of cafe
equipment is erroneously included.
Mark for (a) = 6 out of 8




Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

(b) Prepare the club’s income and expenditure account for the year ended 31 Decembe

e All entries are correct but
the purchase of club equipment
is wrongly included as an item of
expenditure.

Mark for (b) = 8 out of 9

Workings:

s A By
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(c) Prepare a statement showing the movement in the accumulated fund for the year 2022.

oY QL\‘W—U\ALJ ?\J\aj= Opeta ﬂsx__kt - QO uﬁ\& .\)\u\g\\‘(\:a

e The candidate does not attempt
to show the movement in the
accumulated fund and the opening
balance of the fund is incorrect.
Mark for (c) = 0 out of 3
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

Additional information

The management committee would like to buy the club’s own premises but additional finance is
required to carry out this plan. They are considering two options:

Option 1: Apply for a long-term loan from a bank.
Option 2: Obtain a personal loan from a wealthy member.

(d) Advise the management committee which option they should choose. Justify your answer.

o X wmere solbanhion Thonn X ﬁ»\j‘ e for WE wandonl Ookian 2
BNt - e arbeiivr e el \"\‘\ ................................... gk [5] o The candidate states a clear

[Total: 25] decision, supported by one point
regarding different interest rates.
Mark for (d) = 2 out of 5

%\'\»u\,g Lo Moson . °

Total mark awarded =
16 out of 25

How the candidate could improve their answer

¢ (a) The candidate should have ensured that accruals and prepayments were dealt with correctly and that capital
items were not wrongly included in a profit statement.

¢ (b) This was a good income and expenditure account, however, the candidate needed to understand that capital
items should not be included here.

* (c) The candidate should have taken careful note of the question requirement — it was necessary to show the
change in the fund.

¢ (d) The candidate should have provided more support to justify the decision. There was only one valid point and
both options need to be considered.

11
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Example Candidate Response — low

1 Read Source A in the insert.

(a) Prepare a statement to show the profit or loss for the year ended 31 December 2022 for the

* e

D400,

gq.oo .....................................

SOON B
(3360

FOTTRITSTROI. Sy e RPN SN

L2000

2o S

Workingsib _ )
é u o —) 2004 300 MSO0

$s00l AAMPADO_\NOLOD

Examiner comments

G The only correct entries are
closing inventory and rent so only 2
marks are awarded. A capital item
is incorrectly included.

Mark for (a) = 2 out of 8

12




Example Candidate Responses — Paper 4

Example Candidate Response — low, continued Examiner comments

(b) Prepare the club’s income and expenditure account for the year ended 31 December 2022.

e There are some correct entries
but also a range of errors, largely
as a result of incorrect treatment of
opening and closing balances. The
bottom line label is incorrect.

Mark for (b) = 4 out of 9

Workings:
Sudecie
2000] | 200
2400 | 1yod
Swo  Sueo

2 Lu Liso

(¢) Prepare a statement showing the movement in the accumulated fund for the year 2022.

e There is no realistic attempt to
produce a statement.
Mark for (c) = 0 out of 3

13
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Example Candidate Response — low, continued Examiner comments

Aqadluonal information

The management committee would like to buy the ciub’s own premises but additional finance is
required to carry out this plan. They are considering two options:

Option 1: Apply for a long-term loan from a bank.
Option 2: Obtain a personal loan from a wealthy member.

(d) Advise the management committee which option they should choose. Justify your answer.

o There are three valid points and
a decision resulting in the award of
4 marks.

Mark for (d) = 4 out of 5

Total mark awarded =
10 out of 25

How the candidate could improve their answer

(a) The candidate identified most of the items to be included, however, did not apply the required adjustments
properly, for example, adding wages to takings instead of subtracting. These are common types of accounting
adjustments, so it is worth revising the accounting treatment.

(b) As for part (a), it would be worth going over the treatment of subscriptions and other adjustments, as well as
learning the correct terminology for financial statements of clubs and societies.

(c) The candidate needed to provide a statement which calculated the opening accumulated fund and added the
surplus figure to this.

(d) Just one further valid point would have resulted in the award of full marks.

Common mistakes and guidance

(a) Candidates must be able to prepare an account for a trading activity of a club. A common mistake was the
incorrect inclusion of a capital item.

(b) Terminology for an income and expenditure account must be learnt with the bottom line being ‘surplus / deficit
for the year’, along with ensuring that capital expenditure is not wrongly included.

(c) A common mistake was the inclusion of life membership fees as part of the movement, and also not fully
addressing the question requirement to show the movement in the fund.

(d) Where there are 5 available marks for questions of this type, there will be 1 mark for a decision and then 1 mark
for each valid justification point, therefore, candidates should consider whether they have provided enough suitable
separate points for the marks available.

14
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Question 2

Example Candidate Response — high Examiner comments

2 Read Source B in the insert.

(a) Explain why M Limited made a prior period adjustment in information 2. Support your answer
by stating the relevant International Accounting Standard and the accounting treatment.

AL R Acounh

velerwd alivhe. velob\e ad praded o e adeir

........................ e e e T e T T T L T T T T

a The candidate identifies the
change in accounting policy and
states the correct International
Accounting Standard.

Mark for (a) = 2 out of 4

e The calculation is fully correct.
Mark for (b) = 4 out of 4

&> 600 000
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Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

(c) Prepare a statement of cash flows for the year ended 31 December 2022 in accordance with

QUeadener T 5 (O FHowl < Q

IAS 7.

NG (N Gererede) Gaan

Toveahiay Ackuked

....... 2T -y W'Gcéoo
oBgasien s S A L GoAS0)
S R ves TV SO WA R o

o The statement is fully correct.
— Mark for (c) = 17 out of 17

Workings: . ‘ .

—(_ :::.C\oc o0 X &~ (x'?/‘.):) _,.C HPOK QI 9[4) - Sy DA

Overecieq Qeo bR t= ~ACTEO N A A SR,

9 = ' YRV )
Qoo % \ - =\Pe00?

= <[+ = L0
€2 \V2Acn0

Total mark awarded =
23 out of 25

Acy = 5 AcD 426650 = \6oo

How the candidate could improve their answer

(a) A further 2 marks would have been awarded for addressing the accounting treatment by calculating the
depreciation charge and stating that it is adjusted against the brought forward retained earnings balance.

16



Example Candidate Response — middle Examiner comments

2

Example Candidate Responses — Paper 4

Read Source B in the insert.

(a) Explain why M Limited made a prior period adjustment in information 2. Support your answer
by stating the relevant International Accounting Standard and the accounting treatment.
De.prr B8, 10 Hodk s Regork. ofe Qak ook s Ptor
Reiod. dsbrent hos been mode on Lis on adjsbiog. ovent
.50.920200 _ depreashior wold Le recorded Secondy, s 16
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B @ Tnok ie. Decowirs [Poliees cold oo e Opehed .
Yook ts....00s0uking pelddes S ® .
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(b) Calculate the profit for the year ended 31 December 2022.
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(c) a'gp_?re a statement of cash flows for the year ended 31 December 2022 in accordance with
.......................................................................... B B
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issue oF Shores

0 The candidate correctly
identifies the relevant International
Accounting Standard but does not
relate this to the question details.
Mark for (a) = 1 out of 4

o The prior period adjustment is
missing but the dividends are added

correctly.
Mark for (b) = 3 out of 4

o The statement is prepared
in accordance with International
Accounting Standard 7 but there are
some errors.

Mark for (c) = 12 out of 17
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Example Candidate Response — middle, continued Examiner comments

Workings:
1
Ladssy %goo
%d-d-‘\w Skek Lcoz
40dadftron e ' ' Total mark awarded =
222 "y S = LCGO 16 out of 25

How the candidate could improve their answer

¢ (a) The candidate did identify the relevant accounting standard (whilst also referring to other incorrect standards)
but should have supported this by explaining why a prior period adjustment was necessary, along with the
calculation of the depreciation charge and an explanation of the accounting treatment provided.

e (b) The prior period adjustment should have been added to receive the full mark.

¢ (c) The correct calculation of the profit from operations and the purchase of the building and the inclusion of the
purchase of the machine would have resulted in the award of full marks.

18



Example Candidate Response — low

Example Candidate Responses — Paper 4

Examiner comments

ot QOD&:*;\ -~

6 Gaoo™
R - TR
2 Read Source B in the insert. 6rsewy

(a) Explain why M Limited made a prior period adjustment in information 2. Support your answer
by stating the relevant International Accounting Standard and the accounting treatment.
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{c) Prepare a statement of cash flows for the year ended 31 December 2022 in accordance witl

IAS 7.
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a The candidate identifies the
correct International Accounting
Standard and calculates the
depreciation charge.

Mark for (a) = 2 out of 4

e The candidate uses the given
figure for retained earnings only but
does not continue with any further
calculation.

Mark for (b) = 0 out of 4

e There is a partially constructed
statement but there are errors and
omissions.

Mark for (c) = 7 out of 17
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Example Candidate Response — low, continued Examiner comments
Workings:
__________——*——'———'2—
\24o00
Ln oow Locoo
2aleo
fall L \-"Wo
noq{ce® 4 ~
LI Lo

Goto Ly \MO0OS
Y= \\ o 0eo~ Cooe -
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o5 Total mark awarded =
\yo so0 - Veome S G -boor-t VO 9 out of 25

How the candidate could improve their answer

(a) The other two available marks would have been obtained by the identification of the change in accounting
policy and the recognition that the adjustment is made against the retained earnings brought forward.

(b) The candidate did not complete any attempt at the calculation so improvement would have been the addition of
the final and interim dividends and the prior period adjustment.

(c) The profit from operations and depreciation should have been calculated correctly showing workings where
appropriate. The purchase of the machine, the share issue and the dividends paid should have all been included.
Additionally, the candidate could have earned marks by showing the increase in cash and cash equivalents as well
as the opening and closing balances.

Common mistakes and guidance

(a) The question required an explanation of the accounting treatment and the relevant standard so the answer
should address both, along with the relevant calculation.

(b) A common mistake was the omission of the prior period adjustment.

(c) The question required the statement to be prepared in accordance with International Accounting Standard 7 so
the answer should have been laid out in the prescribed format, making use of all of the available information.

20
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Question 3

Example Candidate Response — high Examiner comments

3 Read Source C in the insert.
(a) State two reasons why a business may acquire another business.
170 eMwinade o alved and seddce ozt Lompelition
2. RS e .o B &(Sg,m% el o
e e o e \pemeasced a
2
(b) Prepare the realisation account at 1 January 2023.
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§ 9 Ve '
LENINTY) e H000 Yorthoane.  Comsi doalis . Y20, 000
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I T et e .. 3
\W\X&uj 290 oD
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ot~ T ¥ Uig.00
lapiad— I 1%600
Lopivd — % grYop
%100 | e BR300
e 4
(¢) Prepare, on page 10, the partners’ capital accounts at 1 January 2023 to close the partnership
books of account.

G There are two valid reasons.
Mark for (a) = 2 out of 2

e The realisation account is
prepared without errors and the
profit is split correctly.

Mark for (b) = 4 out of 4

21
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Example Candidate Response — high, continued Examiner comments

Capital account

Bob

tapasial sk Craskey QAOYAS ~UY = & T 00O +Bauk
peh Nkl — \Ta Wites aaD PEEA

-

4% 000 s, REQODO X tusALut e
e aad Bl os U8 oo
e D (o 22 MBOOOY 2/, 12220 06 Yo lo =5 Ug ooow \/37,5 fom 60

Alice Bob Alice
$ $ $ $
L 7 , .
2 \boy0o0 | (60000 ® SE soadiindion 1Beeo | g2M00
B3 wetipe S\ e ah o .\ry el e
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B 16800 | guo 0
2.0y kob| 1634 00 240, oo 162y 04
Workings:
B0 ¢ 31000 2 RI00

0 The capital accounts are fully
correct.
Mark for (c) = 10 out of 10




Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

(d) Prepare journal entries in the books of X Limited to record the acquisition of the parinership:
Narratives are not required.,

............... Pr Cy. (
ggoon |
L2000
(¥ sYo ke P
Y goo o
-’Fa.\?— ..... ,, ! OOD
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Yreoop | W
O nidiorny Shore 2 00900 O
................. 4 -
Mong prewom| | Roo00
Q'DLL\"\ l@ 1bojo © O
, Yoo 80

. [4] a

With the cash.she has received, Alice is considering setting up a new business trading in wood on
her own.

Additional information

(e) Advise Alice whether or not she should sét up this new business. Justify your answer.
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o The journal entries are fully
correct.
Mark for (d) = 4 out of 4
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Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments
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o 6 There is a decision with a
balanced justification and full marks

have been awarded.

Mark for (e) = 5 out of 5
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Total mark awarded =
25 out of 25

How the candidate could improve their answer

Full marks were awarded.
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Example Candidate Responses — Paper 4

Example Candidate Response — middle Examiner comments

3

Read Source C in the insert.

(a) State two reasons why a business may acquire another business.
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(b) Prepare the realisation account at 1 January 2023. > \?.Q?':%""
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There are two valid reasons.
Mark for (a) = 2 out of 2

e The realisation account is
prepared without errors and the
profit is split correctly.

Mark for (b) = 4 out of 4
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Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

Capital account
Alice Bob . Alice Bob
$ $ $ $
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o o There are four correct entries
— the opening balances, profit on
realisation, ordinary shares and the
vehicle.
Mark for (c) = 4 out of 10




Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

(d) Prepare journal entries in the books of X Limited to record the acquisition of the partnership.
Narratives are not required.

Additional information

With the cash she has received, Alice is considering setting up a new business trading in wood on
her own.

(e) Advise Alice whether or not she should set up this new business. Justify your answer.
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o The journal entries are fully
correct.
Mark for (d) = 4 out of 4

e There is a decision and two
valid points of justification resulting
in the award of 3 marks.

Mark for (e) = 3 out of 5

Total mark awarded =
17 out of 25

How the candidate could improve their answer

* (c) The candidate should have calculated and entered the current account balances and then entered the

balancing bank amounts to close the accounts.

* (e) Two extra justification points, one for setting up the new business and one against, would have resulted in full

marks being awarded.
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Example Candidate Responses — Paper 4

Example Candidate Response — low

3 Read Source C in the insert.

(a) State two reasons why a business may acquire another business.
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Capital account

Alice Bob : Alice Bob
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Examiner comments

a There are two valid reasons.
Mark for (a) = 2 out of 2

e The entries are incorrect, the
vehicle is omitted and the account is
not balanced so the profit split mark
is not awarded.

Mark for (b) = 0 out of 4

0 The opening balances, the
loss on realisation, the vehicle and
the balancing bank balances are
entered correctly.

Mark for (c) = 5 out of 10
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Example Candidate Response — low, continued

(d) Prepare journal entries in the books of X Limited to record the acquisition of the partnership.

Narratives are not required.
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Additional information

With the cash she has received, Alice is considering setting up a new business trading in wood on
her own.

(e) Advise Alice whether or not she should set up this new business. Justify your answer.
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Example Candidate Responses — Paper 4

Examiner comments

o The cash paid is the only
correct journal entry.
Mark for (d) = 1 out of 4

There are just two points in
favour of setting up the business
although no clear decision has been
stated.

Mark for (e) = 2 out of 5

Total mark awarded =
10 out of 25
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Example Candidate Responses — Paper 4

How the candidate could improve their answer

» (b) The assets taken over, the consideration and the vehicle taken over all needed to be accounted for. The
account should have been balanced and the profit on realisation must then havve been derived (and the split then
shown).

* (c) The current account balances should have been calculated and included and the ordinary shares must also be
entered.

* (d) The ‘ordinary shares’ must be split between share capital and share premium, the assets must be entered
individually and the goodwill calculated correctly.

* (e) A decision must be given and then two points against setting up the business would have resulted in a
balanced justification and the award of the remaining 3 marks.

Common mistakes and guidance

* (@) There were no common mistakes and nearly all candidates gave two valid reasons.

* (b) The question required an account so the answer should be in the prescribed format. The purchase
consideration was sometimes incorrectly treated.

* (c) The capital accounts should be prepared in columnar format. The current account balances were frequently
omitted and the bank transfer to close the accounts was often incorrect.

* (d) Journal entries must be presented with two distinct columns and the entries must be labelled appropriately,
ensuring that all relevant ledger accounts are identified.

* (e) Adecision is required along with balanced points of justification.

30



Cambridge Assessment International Education

The Triangle Building, Shaftesbury Road, Cambridge, CB2 8EA, United Kingdom
t: +44 1223 553554

e: info@cambridgeinternational.org  www.cambridgeinternational.org

© Cambridge University Press & Assessment 2023 v1



